At the Edge of Whole Thousands

Just one is missing
from a thousand:

999 +1=1,000

Ten is missing

from a thousand:

990 +10= 1,000

1. How much is missing from a thousand? Write an addition sentence.
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o B b. c.
+ =1,000 + =1,000 = 1,000
d. M €. f. ;
+ = 1,000 + = 1,000 = 1,000
2. We have 900-something. Complete a thousand.
a. 999+ _1 =_1,000 b. 980 + = c. 930 +
992 + = 985 + = 937 +
3. Complete the next whole thousand.
a. .
1,920 + = 1,990 + = 6,950 +
1,999 + = 7,940 + = 4,900 +
2,998 + = 5,970 + = 3,995 +
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